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Test 3 Mathematical Structures AM1010 4

Monday January 24 2021, 9:00-10:00 TU Delft
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You are only allowed to use pen and paper; no calculators, books or other tools allowed.

All answers have to provided with a proof/explanation unless otherwise specified.
Please enter your final answers in the boxes provided.

— If you do not have enough space in those boxes, use the extra box on the first page.

— If that is full as well, ask an invigilator.
Do not use the boxes provided as scratch paper. We will not grade your scratch paper.
You can give your answers in English or in Dutch.

The grade is (score+4)/4. It will count for 30% of your final grade. If the grade for this
test is less than 4, and less than your average grade, the grade for this exam will be your
final grade.

If you are entitled to extra time, your exam lasts until 10:10. o
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De enig toegestane hulpmiddelen zijn pen en papier, dus geen rekenmachines, boeken,
etc.

Alle antwoorden moeten met uitleg/bewijs gegeven te worden, tenzij anders opgeschreven.
Gelieve de antwoorden in de daartoe bestemde blokken op te schrijven.

— Als de ruimte in een antwoordbox te klein is, gebruik dan de extra box aan het begin
van het tentamen.

— Als die extra box ook vol is, vraag hulp van een surveillant.
Gebruik de antwoordboxen niet als kladpapier. We kijken je kladpapier niet na.
De vragen kunnen beantwoord worden in het Nederlands of het Engels.

Het cijfer is (score+4)/4 en telt voor 30% van je eindcijfer. Als je voor deze toets minder
haalt dan een 4 en minder dan je gemiddelde cijfer, dan is het cijfer voor deze toets je
eindcijfer.

Indien je recht hebt op extra tijd duurt je tentamen tot 10:10.
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Extra space / Extra ruimte

(clearly indicate which exercise you put here. Also note this at the exercise itself).
(geef duidelijk aan welke opgave je hier opschrijft. Geef dit ook aan bij de opgave zelf.)

1. Determine whether the following series converges absolutely, converges conditionally or 6
diverges.

Bepaal of de volgende reeks absoluut convergeert, relatief convergeert, of divergeert.

Zn+n3
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2. The axioms of an ordered field as applied to R are

De axioma’s van een geordend lichaam toegepast op R zijn

AlVz,yeR:z+yeRandz=wAy=z=>c+y=w+z2;
A2 Vz,yeR:z+y=y+x;

A3 Vz,y,zeR: 24+ (y+2)=(z+y) + z;

A4 30:Vx € R: z+ 0=z and this 0 is unique;

A5 VxeR:3(—x) ER:z+ (—z) = 0 and (—z) is unique;
MlVz,yeR:z-yeRandz=wAy=2=>z.-y=w-z;
M2Ve,yeR:z-y=y-z;

M3 Vz,y2€R:z-(y-2)=(z:y) -z ;

M4 31#0:Vz €R:z-1 =z and this 1 is unique;

M5 Vz#0:3z7'€R:z-27' =1 and 27! is unique;

DL Vz,y,z€R:z-(y+2)=z-y+z-2;

O1 For all z,y € R exactly one of x =y, z >y, holds z < y;
02 Vz,y,zeER: e <yAYy<2z2=>13 < 2;

O3 Vz,y,zeRiz<y=z+z<y+z

O4 Vz,y,zeR:z2<yA0< z=1z2< y2

Show, using the axioms that / Laat met behulp van de axioma’s zien dat

O<zAz<y=>yl<zl

Additionally to the axioms you may use the theorem that
Behalve de axioma’s mag je ook gebruiken dat

IVzIeR:0<z=0<2x!

Indicate which axiom or result you use at each step
Geef bij elke stap aan welk axioma, dan wel resultaat je toepast.




3. Determine for all values x € R whether the following power series converges or diverges. 10

Bepaal voor alle waarden x € R of the volgende machtreeks convergeert of divergeert.

o0 1 "
Z v (z +2)>™.
n=1

The series converges for/ De reeks convergeert voor

The series diverges for/ De reeks divergeert voor
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4. What is the definition of a countable set? 2
Wat is de definitie van een aftelbare verzameling?
9. Does there exist a set S such that its power set P(S) is equinumerous to N? 4

Bestaat er een verzameling S waarvan de machtsverzameling P(S) gelijkmachtig is met
N7
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6. Consider a sequence (s,), satisfying 0 < s, < 1. It is bounded so it has a convergent 6

subsequence. Suppose we can define s, for all n € Z in such a way that for all n,m € Z
we have

0<s, <1, and Sp — S =

LA 8y 2 B
ey Sp S 8

Show that
inf{s, | n€ Z\ {0}} =0.

Beschouw een rij (s,) met 0 < s, < 1. Derij is begrensd dus deze rij heeft een convergente
deelrij. Stel dat we s, kunnen definiéren voor alle n € Z, zodat voor alle n,m € Z geldt

9 Il
0= s < L en Sp— S ==l e S
8w Spa<Eg

Laat zien dat

inf{s, | n€ Z\ {0}} =0.
Hint: Cauchy.

Examiner resposible: Fokko van de Bult
Examination reviewers: The Math Structures team.




